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1. Among A, B, D and F, each

having differen!  weight, A is
lighiter tham B and B is lighter than
only D. F is not as heavy as A,
Who amongst them is the
lightest 7

Ay D

B F

<y A

(D) Cannot be datermingd

(E} Mone of these

. 2" i sublracted from each even

digit and ‘2" is added to each odd
digit in the numbar G3B5471.
Which af the following will be the
ditference between the fourth
digit from the left and the fifth
digit from the right of the new

numbser thus formed 7
A 5 (B) 4
) 3 o) 2
(E) 1

Rahul started from point A and
walked 4 m towards the West, He
then fook a leff turn, walked 12 m
and stopped at point B. At the
point B he took turn in a certan
direction and after walking, he
reached a point from where the
starting point J.e., point A was
exactly 12 m towards the MNarth,
Towards which  direction did
Rahul tufm at point B,

() West (B) South - Wast
(€] East (D) Morth

{E} Cannot be detarmined
Prerna cormectly remembers that
last year the exams were hold
bedore June bul aMes February.
Sirmran cormectly rememibers that
last year the exams wera before
September but after April. in
which manth of the year were the
axarms dofinitaly heid 7

(A} October (B) January

(S} July (D) May

(E) March

10

. Ina cerfain code "SHINE' is

coded as 'FOJIT' and ‘AFTER' is
coded as "SFUGE'. How will
‘PRICE" be coded in the same
coda 7

(&) QSIDF (B) FDSMO
(C) FOJSG (D) FSIDO
(E} QSDJF

. Which of the follswing will come

in place of the question mark 7
CBD GFH KJL 7 SRAT
[A) OMP (B) POO

(G} WOP (O] wvx

(E) QOP

. Tha positions of how many alpha-

bets will rernain the same if each
ol the alphabets in the word
KINDLE is rearanged in ihe
alphabatical order from laft to

right 7
[A) Mone (B) One
{C) Two (DY) Three

{E} Mwore than three

Four of the following five are alike
in a certain way and so form a
group. Whichis the cne that doas
not belong to that group 7

(A) Zinc (B) lron

(C) Copper (D) Aluminium
{E) Craygen

. I mach vowel of the word

CROWING is changed to the mext
letter in the English alphabetical
saries and each consonant is
changed to the previous lefter in
the English alphabgtical series
and then the alphabeis thus
formed are arranged in alpha-
betical order from left 1o right,
which of the Tollowing will be third

from the nght 7

(&) J 8 P
c) M o) Q
(E) F

How many meaningiul English
words can be formed with the
letters ONW using each letter
only once in each word ?

{4} None (B) One

C) Twa (D) Theea

(E) More than three

Directions—(Q. 11-15) In each

quistion balow are three siatements
followed by two conclusions mum-
bared | and |1 You have 1o take the
thres given stataments 1o be frue
aven if they seem 1o be at variance
from commanly known facts and then
decide which of the given conclusions
logically follows from the thres state-
menis digregarding commonly known
facts,

Give Answers

13

. Statements

(A} W only conclusicn | follows.

(B} only conclusicn 1| follows.

{C) I eithier conchesion | or con-
clusion Il follows.

(D) I naither conclusion | nor
conclusion Il follows,

(E) M both conclusion | and con-
clusion Il follow,

All aclors are producers,

Some producers are direciorns,

Some singars are producers.

Conclusions -

I Some aclors are singers.

. Some singers ane directors.

. Statements

Al movies ane dramas.

All plays are dramas.

All dramas ane films.,
Conclusions :

I All movies arae films,

Il.  Some plays are o films.
Statements

Some grains are cereals.
Some cereals are fce,

Some rice ang wheat,
Conclusions :

I Some graing are whaat,
Il.  Some wheat ane consals.

. Statements

All paints ane colours,
All inks ane paints,

No Colour is a vamish,
Conclusions !

I, Novarnish is paint.
Il Allinks are colours.
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15.

Statements -

Some kites are planes.
Al planes are birds.

All birds are balloons.
Conclusions .

I. Al birds are Kites.
1. AN planes are balloons.

Directions —(0. 16-20) Follow-

ing questians are based on the five
thaesa digit numbars given below—

16,

17.

19,

753 481 B4 374 208

1 all the numiers arg arranged in
ascending order from left to rght,
which of the following will be the
sum of all the thees digis of the
numbser which is exactly in the
mikddle of the new arrangement 7
(A} 17 B 15

(C) 14 D) 13

E) 18

If the positions of the second and
the third digits of each of the
numbers are interchanged, how
many evan numbers will be

formed T

(A) MNone (B) One

(C) Two (D) Three

(E) Four

If &l the digits in each of the num-
bers ans arranged in doscending

arder within the number, which of
thee Tollowing will fofm the lowest
number in the mew arrangement
of numbars 7

a) 753
(C) &47
(E) 374
What will b the resultant if third
digit of the lowest number is
mmmmﬂﬁgnd
the highest number 7

Ay 27 B) 40

{C) 20 D) 45

(E) 24

iB) 481
(D) 58

i two is added 1o the first digit of

each of the numbers, how many
numbers thus formed will be

divisible by three 7

iA) Mone (B) One
(C) Two (D) Three
{E) Faur

Directions— (3. 21=25) Swdy
thi lolowing information carefully and
answer the given questions.

A, B, C, D, E and F are sitting in
a straight line (not necessarily in the
game order) tacing MNorth,

{a) D sits at the axtreme left

hand cormar of the line.

{b) Only three persons sit bet-

waen D and B
(&) B sits second o right of F.
(d) A lsnot an immediate neigh-
bour of B.
{#) E does not sit al the exirame
and of tha ling.
2, Who sits at the exireme right

hand comar of the line 7

(A A | C

<) D oy F

(E} Mone of these
22 How many persons sit batween

Aand B?

(A) Mone (B} One

(C) Two (D) Thitsd

(E) Four

£3. What is the position of F with
respect io D 7
(&) Third to the left
(B} Second to the lah
(C) Immediabehy to the right
(D Third to the right
(E) Second to the right

24, Fourof the following five ane alike
in @ cortain way based on thair
sealing positions in the above
arrangamint and so form a group.
Which Is the one that does nol
balong to that group 7
(A} FB (B} EC
{C) AE i) AD
(E) DF

25, 1f all the parsons are made io it
in alphabetical ardar from right o
left, the positions of how many
will remain unchanged as com-

pared 1o the onginal sealing posi-
tions 7

{A} None  (B) One

{C) Two (D) Threa

(E} Four

Directions—(Q. 26-30) Study
the following amangamant canefully
and answer the gquestions given
berlow—
BAEDADEBCACUABDUA
DEEBABCUDEBCDC

26, How many sech pairs of alpha-

bets are there in the seres of
alphabéts given in bold in the
above arrangement each of which
has as many letters balwaen
tham (in both forward and back-
ward diractions) as they heve bet-
waan them in the English alpha-
betical senes 7

(A) None {B) Ona

(Ch Two it) Three

(E) More than threa

. How may such consonants are

thare in the above “TANGOMENT
gach of which Is immadiately
preceded by a vowel orw alsd
immediataly followed = A vowel 7
(B) Theee

{C) Four (D) Five

{E}) More than five

. Which of the following is tha fifth

to the left of the seventeenin
from the laft end of tha above
T

iA) E & u
c) B o ¢
{E} A

Directions —{Q. 31-35) Read the

information/statemant given in each
question carefully and answar the
questions.

31, Which of the following expres-

sions will be trus if the expression
‘Jx Hm | =K' is definitely frue 7

(A JzK (B) K=H
C) l=d D) K=d
(E) Nona is true

. In which of the following expres-

sions does the expression 'L < P
does not hold trua 7
(A) P=NaM=L
By L=NzM<P
C) PeNsMsL
O} LeM=NsP
(B} LeM=N<F
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33 Which of the following expres-
sions will not be true i the
expression ‘A =B =C >0 is
dufinitaly true 7
Ay AzD
iC) Dea
(E} AN are true
o In which of the following expres-
sions will the expression 'F = R
be definitely frug 7

A) FeQ=zG=R

B Rz0<GaF

{C) ReGeQ=F

D) F=QeG<h

(E) Mone of these

. Which of the following expres-
sions will be true il the expres-
mw:vcr.s'ummuw
rua T

B) C=A
D) B=D

A) W8  [B) T<W
{C) V=5 D) WeT
(E) Mo is true

Directions— (0. 36-40) In each
question below is given a group of
numbarisymbel followed by five com-
binations of letter codes numbered
(A, (B}, (C), (D) and (E). You have to
find oul which of the combinations

Numbar/Symbed :
%RENFSETINREES 2004
Letter Code :
FOHUTKACWRAMEQBP
Conditions :
i} It bath the third and the fourth
elements ane odd numbers, both
these are to be coded as tha
code for the higher odd number,
If the first elemant is a symbol
and the last an even number,
the codes for both thase are o
be interchanged,
I both the second and the fifth
elemants  are symbols, the
second element Is 10 be coded
ulsi
BO58%6
(A) BODUFRT (B) TBURFD
(C) DBURFD (D) DBFURT
(E) DBURFT

(i)

{iify

37, SkBasE
(&) UCRPHT
(B) U=RPHT
{C) T=RPHY
(D) UsRHPT
(E) UCRPCT

33, D529
(A) ROEUBM (B) MOUBER
(C) ROUBER (D) ROBEUM
(E} ROUEBM

39. #48TRS

(&) HPEBWU
(B) HPKKWU
(C) HPEBUW
(D) HPBEWU
(E} HPKBWU

. wd 728

(A) RPEKFC (B} CPKFER
(C) RPFKFEC (D) APKEFC

(E} RPHFER

hﬂom—:u.ii—ﬁo}lnmhumqmmmmﬂm

of the five answer figures on the rght
the left, if the sequence were continued

?

should come after prablem figures on

Problem Figures Answer Figuras
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Answer: Reasoning

1 B 26 E
2 E 27 D
3 C 28 B
4 D 29 C
5 C 30 C
6 A 31 B
7 B 32 C
8 E 33 A
9 B 34 C
10 D 35 E
11 D 36 E
12 A 37 B
13 D 38 E
14 E 39 A
15 B 40 C
16 D 41 C
17 C 42 A
18 E 43 E
19 B 44 C
20 C 45 D
21 B 46 D
22 C 47 E
23 E 48 B
24 D 49 B
25 B 50 A




